Equation Development 3.1
Algebra 2

Solve, check, and graph the following equations and inequalities.

(KEY)

3) 2x+23<-17- 10x

o
H—+4=>2 2) -32>5x+4x+13
-4 -4 -32>9x+ 13 +10x + 10x
A
('3)_1 > =2 (-3) -13 -13 8x +23 < -17
d<o6 | -45 > 9x -23  -23
9 9 8x < -40
-5>x 8 8
-18
./—?5 +4 =2 V=32 > 5(-10) + 4(-10) + 13 X < -5
-32>-50-40+ 13 v -2(-10) +23 < -17 - 10(-10)
6+4>2 -32>-71 20+23 <-17+ 100
10>2v/ 43 < 83/
0 6 -5 0 -5 0
4) 7v*-15=13 5) 26+8x=15x - 37 6) -132=4(-9 +4q)
+15 +15 -26 -26 -132=-36 + 16q
7v: =28 8x = 15x - 63 +36 +36
7 7 -15x_-15x -96 = 16q
Vv =v4 Tx=-63 16 16
7 6-a
x=9
V1Q2»-15=13 7(-2)-15=13 V-132 = 4(-9 + 4(-6))
7(4)-15=13 7(4)-15=13 /26 +8(9)=15x - 37 -132 = 4(-9 - 24)
28-15=13 28-15=13 26 +72=135-37 -132 =4(-33)
13=13 13=13/ 98 =98v -132=-132/
-2 0 2 0 9 -6 0
6 3 5 3 )
7 —XF =— 8) =X -3=17 9) 8-=X =35 10) —x+—-x+2=10
7 2 i .
+3 +3 -9 -9 -2 -2
716 3(7 2 27 10
— lx=— — —x=20 —;%_x:—-l — X+ —x=38
6,7 2.6 5 - 15 15
7 Bt [5° -3 _" 37
! |3||5..|x ‘D|..3| [FT [T] TR
6(7 3 (15 \( 37 (15
/= =|=2 x =50 x=3 | = || = |x=8|=|
7\4) 2 3 37 \15 ) \ 37
3 3 120
2 2 37
0 7/4 0 50 0 8/3 0 120/37



1) [e-4|=12 12) +8|=-14
2c-4=12 2c-4=-12
+4 +4  +4 +4
2c=16 2c=-8 %
2 2 2 2 No Solution
c=8 or c=-4
V]28)-4| =12  |2(-4)-4]| =12
116 - 4| =12 -8 -4| =12
12| =12 -12] =12
12=12 12=12v/
-4 0 8

Solve and graph the following compound inequalities.
14) 3<x<8 15) -10<2x<6
2 2 2

x>3 and x<8§ Xx>-5 and x<3

13) |6p- 3| +15=48

-15  -15
|6p-3| =33
6p-3=33 6p-3=-33
+3 3 +3 13
6p =36 6p=-30
6 6 6 6
p=6 or p=-5
vV 6(6)-3| +15=48 |6(-5)- 3| +15=48
136 - 3| +15=48 |-30-3| +15=48
33| +15=48 -30] +15=48
33 +15=48 30+ 15=48
48 =48 48 =48V
-5 0 6

16) z<-7Torz>4

3 -5 3 -7 4 -1 13
18) -8<2k <10 19) 5x<-15 or 3x>12 20) 4<t+6<10 21) -17<3t+1<1
2 2 2 5 5 3 3 6 -6 -6 -1 -1 -1
k>-4 and k<5 x<-3 or x>4 t>-2 and t<4 -18<3t<0
3 3 3
t>-6 and t<O0
O - O b4 O O e @)
-4 5 -3 4 -2 4 -6 0
Solve the following literal equations.
—m
22) -h+5=k 23) 32=Af+g 24) -3a-b=19 25) —+n=14
0
5 -5 -g -g +b  +b -n__-n
e
-h=k-5 32-g=-f 3a=b+19 (-6)— =(-1+14) (-6)
-0
-1 -1 -1 -1 -3 -3 m = 6n - 84
h=-k+5 32+g=f a=-b/3-19/3
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